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QUESTIQQ{ RPER SPECIFIC INSTRUCTIONS
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(Please read each of th%én{;o wi g instructions carefully before attempting questions)

There are TWENTY %‘ﬁ‘s printed both in HINDI and in ENGLISH.
PO
All questions are &:oi §Iallsory

The number § gk"§ carried by a question/part is indicated against it.

Answers must“ﬁje wrltten in the medium authorized in the Admission Certificate which
must be stated” clearly on the cover of this Question-cum-Answer (QCA) Booklet in the

space provided. No marks will be given for answers written in a medium other than the
authorized one.

Answers to Question Nos. 1 to 10 should be in 150 words each, whereas answers to
Question Nos. 11 to 20 should be in 250 words each.

Word limit in questions should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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o Flo flo & fafimin &7 TR o To Wo fo H) wd g R ¥ whE waRs ¥ R
A 2| 38 ga99 § WHR A adqm At | Rooft iR (IW 150 W=zt § difsm)
Faster economic growth requires increased share of the manufacturing sector in

GDP, particularly of MSMEs. Comment on the present policies of the Government in
this regard. (Answer in 150 words)

Wi Adferaeen # fefofeaon i feufe @1 R7 ww waw & o archt gweelt w5 Wy Hifw ok
gur % foe gama i) (IW 150 vzt § difve)

What is the status of digitalization in the Indian economy? Examine the problems
faced in this regard and suggest improvements. (Answer in 150 words)

FN IRl % I wd fawom # - feaEl B TR Tee W 27 @
(wzg ﬁéiﬁm)

How does e-Technology help farmers in production and market &gécultural
produce? Explain it. \‘v‘ggf“?h 150 words)

9RA A of YR F Il T Il B ey e W % Wﬁﬁ%%%ﬁ R g dm Aifa

FH TH TMTE GUR FET ST Ehal €, fae fifg) - ‘"&gwwomﬁﬁ?ﬁﬁq)
o HRKE

State the objectives and measures of land reforms in I& \ﬁgngscuss how land ceiling

policy on landholding can be considered as an g‘ffe p reform under economic
criteria. x\%:ii%é (Answer in 150 words)

o & (Yo MMgo) A ruTEon 1 U DY x**!f@lg e Fem # & weg Fwar &7 w0
M9 w@Reg 1 # To mo%mnﬁsaﬁﬁidw ¢ T WegH w7

R (3R 150 wi=di & difve)
Introduce the concept of Artlkﬁ*hite‘fhgence (Al). How does Al help clinical

diagnosis? Do you perceive any t to privacy of the individual in the use of
Al in healthcare? S5, (Answer in 150 words)
N

3 faftrm et w ==t Hifvg, ﬁ‘{é 3 99 B @ SuA h i ¥ 9R 9§ Heg R g B
& ““‘& (FW 150 w=s1 | i)

Discuss several wa&s@% hl(\ﬁ'l microorganisms can help in meeting the current fuel
shortage. 9% o (Answer in 150 words)
N

. mﬁﬁaﬁﬁwmm@?ﬁ% oy w9 @ = At iR, P Romreey steq ik @ufy
@%@ﬁﬁﬁm%ﬁﬁammﬁwmméwﬁﬁﬁmsﬁ%a
é&é“*&“ (IR 150 7= i)

Dam falléres are always catastrophic, especially on the downstream side, resulting
in a colossal loss of life and property. Analyze the various causes of dam failures.

ffrfo

Give two examples of large dam failures. (Answer in 150 words)
ot g 1 B? W aRfEfoehl 9 W gEh W e §7 Wi 9@ 2w % fore PR e @ e v
faew w9 @ wfers B7 (W 150 w=st & Gifvg)

What is oil pollution? What are its impacts on the marine ecosystem? In what way is
oil pollution particularly harmful for a country like India?
(Answer in 150 words)
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STqhaTe-FTfed &l & e 1 faam ave w0 § ‘R ok Ram’ e & saws wew )
T Ty § 5 3R R F ded wEeE % 9 % w9 8§ SR g1 SO T 39t ) st fif)
(IW 150 =2t F difsm)
Winning of ‘Hearts and Minds’ in terrorism-affected areas is an essential step in
restoring the trust of the population. Discuss the measures adopted by the

Government in this respect as part of the conflict resolution in Jammu and
Kashmir. (Answer in 150 words)

i aR & T g Eforn /en-ares, g onft AefRd €6 Al (o o o) A Her & wgEm
ST B g % fog iR waw ¥ W R A P F e frr w1 @ suet w Rueh it
(IW 150 y=t # ifs)

The use of unmanned aerial vehicles (UAVs) by our adversaries acros&\ borders

to ferry arms/ammunitions, drugs, etc., is a serious threat to the i xls “§ecur1ty
Comment on the measures being taken to tackle this threat. \i i«:ﬁ

A in 150 words)
mﬁa@méﬁmﬂwﬁﬁm%umﬁ%ﬂwﬁﬁﬁ%&%mnﬁmm
e B st guR % ggE AR e (3T 250 7 # A

£ 5
Most of the unemployment in India is structuwa}&\( 3 nature. Examine the
methodology adopted to compute unemplo&g:{xerﬁg 1@ the country and suggest

improvements. ‘;;*xg\e, (Answer in 250 words)
TEve dferEr’ IR ‘Ghiga sferawen’ W a&ﬁmlmm%mm
wesen A A s # 5w ey (I 250 7= F difdr)

Distinguish between ‘care econo@\"‘x‘%‘ﬁ' ‘rnonet;lzed economy’. How can care
economy be brought into mone e(ﬁ?conomy through women empowerment?
(Answer in 250 words)

@qaﬁzﬁqaﬁwmasnaﬁﬁ %mﬁﬁ WA § we yrew (i Yed) # gu afad 6
=R hifsg | gf“’*ﬂ@ (W 250 =3t & Hifvw)

Explain the chang cro@pmg pattern in India in the context of changes in
consumption patt d marketing conditions. (Answer in 250 words)

R "\3%’?
wﬁﬁ&h%@ WA el JE T e wieed w €7 faw =R we (ssRpe o

Ry %§

ﬁo)mw\éﬁmmaﬁiﬁmﬁm! (W 250 wr=at & ifvm)

What M1rect and indirect subsidies provided to farm sector in India? Discuss
the 1ssu\% raised by the World Trade Organization (WTO) in relation to agricultural
subsidies’ (Answer in 250 words)

A ATl 1 A g R Aot @ wg w1 ¥ e I B wE w0 § i A 3R
ARH H & 3R TRl T8 99 ATl ) ge § 3 0 TgE o eE e 5

(3| 250 w=3t # difere)
The adoption of electric vehicles is rapidly growing worldwide. How do electric

vehicles contribute to reducing carbon emissions and what are the key benefits they
offer compared to traditional combustion engine vehicles?

(Answer in 250 words)
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16. A % drat Sz fiwm 1 gea w1 0 ¢ R s vea % fem § wfe T fen s wem? e 2
3 78 % ) Tt R fon & I g A vafa siaRe-am ) sownferdt i wega i @i
fen wrTE siaRe F2 ¥ ‘el waw P F R 38 i @ avia i e diefere |
e gaqu & JreE @ Ry (IW 250 vr=at & difvre)

What is the main task of India’s third moon mission which could not be achieved in
its earlier mission? List the countries that have achieved this task. Introduce the
subsystems in the spacecraft launched and explain the role of the Virtual Launch
Control Centre’ at the Vikram Sarabhai Space Centre which contributed to the
successful launch from Sriharikota. (Answer in 250 words) 15

17. SRG R 3R & BT T T i e wrimn ) el fift ok we el § it
FRid Hew H IRd B O i F Am e (mzso:ra’iﬁaﬁm)

Comment on the National Wetland Conservation Programme ml%
Government of India and name a few India’s wetlands of mtematwh po‘rtance

included in the Ramsar Sites. } 250 words) 15
Qv ¥ c.{‘ ‘

18. mvﬂaﬁqmmmm(momo@ﬁoﬁﬁo)ﬁéﬁmm—wtﬁgwﬁﬁﬁwwm
Hie $ af F1 @EigER @ ¥ e TemrR &9 & v o Swe F W A
\,Q‘%\ % (IW 250 vt | €im)

&
The Intergovernmental Panel on Climate Chan Pﬁ‘h@‘%las predicted a global sea
level rise of about one metre by AD 2100. What %. wbe its impact in India and the
other countries in the Indian Ocean regL%? k4 (Answer in 250 words) 15

RGO

19. WRA E AT Hl T STl iaieh e ”’m‘%?@@aﬁmmm%mﬁgﬁ
Wgﬁmaﬂzaﬁqﬁﬁﬁﬁ@maﬂm% (3W 250 T=a1 & difve)

What are the internal security ch&%&s being faced by India? Give out the role of
Central Intelligence and Invesfigati Agencies tasked to counter such threats.

‘if\:\‘\ i%& (Answer in 250 words) 15

20. W & AT % ferareo @ mmamaﬁm%mmmmﬁmm
e H, graiﬁﬁmm f 2022 # g ‘omawar & g W T (W Wo Tho Ao)’

@i ¥ @ 11?:!S R \’; e i) (I 250 Tt § i)

Give out the m@ L sburces of terror funding in India and the efforts being made to
curtail these&ouxc:’es In the light of this, also discuss the aim and objective of the
‘No Mo@a m\‘fi“érror (NMFT)’ Conference recently held at New Delhi in November

2022. ¥ ~ (Answer in 250 words) 15
¥
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